‘Q (PI) | Collulls - Md=T. Exam. 200?/00%_4.

i (l /_e't’ _)(:(nﬂ X) QX@tS Ored C{)ﬁtl‘\\kﬂ\b JV( X

oy (@a (@) Fnd ol ¢ the nth 1&, [oc po ,mm& of
7

" Centered x
) Prue
Ra0)=£60 =Tol9 = 7 f ew L) du

i(i\‘) et f0= an X, a=0.
e Show Tl - X xr XM
@ T 8= bak)= A=3T T E = ) )

5

(+) {fw\%-— (X- 12—) < I‘S—L + x
1T -] < p KT

Z/(I) If {'(x) otz and m\‘gxmom mn (@, 5] TLQM
Frwf- Am le«g'ﬁx oj. —j: ovey (4, gj~jJ1+T ‘4}&* ‘ik

(n) Cladete tha fu\,ﬂ\ % The atrog
l‘§+ 33 Pevl ex

3 §D|vw~3 ﬁ“l MDW*\J ™ g Vah& PWL s -

‘(cq %W - 3t (L)r’ dy _ = Y o e
it 3(9)"' g { 8(9}__! /Mxﬂ

7.9 emple

CO \ 298+ gy 420 (9 Yy sy=,

P-Tre ex-43

4 (o) =\ rpec | ? g'w}:z ‘




(P2)

4 A cbindricall ik of /xeylx ?LE and adius 2FA
lf%’ A= filled with wadex . Walee drang z‘Amqu A S‘cf(,(qre
~ hole 56 Side 2 inh in the bottom. De‘ferm\‘nq
th wals leel yt) X tine £ (Secnds),

How ﬂong dves oF Take fov e Tank 15 J*
ULYDW\ M Z'& em/mfy (G ATY eanf’& b

5 Fnd e ]CD-WOW?ng [t \'E&fedﬁ‘v‘i[ /.
167, .
D Yo 15 ) L (14 7 {

N300 |

\ R
) i =2 @) Do 37
DO & il o b n>oe

b Whether the | infinte series 1S @“Veﬁ&\t oY
i divecjet wv:l ?
)

PATE ewmple | WH l
Gy Sbmewlil) THY - o
ney e ne) bo

- VDQ 3—lm N ‘ |
(r\l\\) Z e Vli%ov)i“;f‘ (\V) Z \}K_ 3"' st Q,W,,Fle b oo

Nzy N=)

b =Y
V) 2 [@pr, M) = ) e eor

Y'\zz n }’~Y"° e:(a.»'}:]g 1;
(ervlie

NN oo ' | Do | <
D) Z N Lan (vﬁ‘I) “---~n ) pygr ex
=& FH’(J dm""V,P—)/ h:{ (2 h)\‘ /HJ; I‘j;fs-md,

L) fﬂ Show ‘H\g F AnZ0 omd {2;,%; NGy R43R, )




	3.pdf
	4

